

٤٠ ٥٠ ٦٠ ٧٠ ٨٠ ٩٠ ١٠٠ ١١٠ ١٢٠ ١٣٠ ١٤٠ ١٥٠ ١٦٠ ١٧٠ ١٨٠ ١٩٠ ٢٠٠ ٢١٠ ٢٢٠ ٢٣٠ ٢٤٠ ٢٥٠ ٢٦٠ ٢٧٠ ٢٨٠ ٢٩٠ ٣٠٠ ٣١٠ ٣٢٠ ٣٣٠ ٣٤٠ ٣٥٠ ٣٦٠ ٣٧٠ ٣٨٠ ٣٩٠ ٤٠٠ ٤١٠ ٤٢٠ ٤٣٠ ٤٤٠ ٤٥٠ ٤٦٠ ٤٧٠ ٤٨٠ ٤٩٠ ٥٠٠ ٥١٠ ٥٢٠ ٥٣٠ ٥٤٠ ٥٥٠ ٥٦٠ ٥٧٠ ٥٨٠ ٥٩٠ ٦٠٠ ٦١٠ ٦٢٠ ٦٣٠ ٦٤٠ ٦٥٠ ٦٦٠ ٦٧٠ ٦٨٠ ٦٩٠ ٧٠٠ ٧١٠ ٧٢٠ ٧٣٠ ٧٤٠ ٧٥٠ ٧٦٠ ٧٧٠ ٧٨٠ ٧٩٠ ٨٠٠ ٨١٠ ٨٢٠ ٨٣٠ ٨٤٠ ٨٥٠ ٨٦٠ ٨٧٠ ٨٨٠ ٨٩٠ ٩٠٠ ٩١٠ ٩٢٠ ٩٣٠ ٩٤٠ ٩٥٠ ٩٦٠ ٩٧٠ ٩٨٠ ٩٩٠ ١٠٠٠

(IUL)PSM-FP/PSM/2026/182	پښتو ژبه:
(PROC-32-2026) BIT/2026/79	پښتو ژبه:
10 سېپټمبر 2026 و څه پورې 11:00 اوسه	پښتو ژبه:
په څه پورې / څه پورې / څه پورې	پښتو ژبه:

Qty	Description
20	Core 4G PT Camera Hikvision DS-2DE2C400MWG-4G or Equivalent
20	Vertical Pole Mount Bracket Hikvision DS-1275ZJ-SUS or Equivalent
20	Weatherproof Junction Box Hikvision DS-1280ZJ-PT6 or Equivalent
20	Active PoE Splitter (48V to 12V) Hikvision Variant (or High-Quality OEM) or Equivalent
20	60W High-Power PoE Injector Hikvision LAS60-57CN-RJ45) or Equivalent
5	Outdoor Shielded Cat6 Cable (100m spool) Standard Industrial UV-Rated Brand
20	High Endurance microSDXC/SDHC UHS-I Card 512GB • Continuous Writable • UHS-I & V30 U3-compliant (Read/Write Speed 30 to 100 MB/s) • Extreme temperature resistance: 10°C to 80°C

۱. $\frac{1}{x^2} = x^{-2}$ $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$
 ۲. $\frac{1}{x^3} = x^{-3}$ $\frac{d}{dx} x^{-3} = -3x^{-4} = -\frac{3}{x^4}$
 ۳. $\frac{1}{x^4} = x^{-4}$ $\frac{d}{dx} x^{-4} = -4x^{-5} = -\frac{4}{x^5}$
 ۴. $\frac{1}{x^5} = x^{-5}$ $\frac{d}{dx} x^{-5} = -5x^{-6} = -\frac{5}{x^6}$
 ۵. $\frac{1}{x^6} = x^{-6}$ $\frac{d}{dx} x^{-6} = -6x^{-7} = -\frac{6}{x^7}$
 ۶. $\frac{1}{x^7} = x^{-7}$ $\frac{d}{dx} x^{-7} = -7x^{-8} = -\frac{7}{x^8}$
 ۷. $\frac{1}{x^8} = x^{-8}$ $\frac{d}{dx} x^{-8} = -8x^{-9} = -\frac{8}{x^9}$
 ۸. $\frac{1}{x^9} = x^{-9}$ $\frac{d}{dx} x^{-9} = -9x^{-10} = -\frac{9}{x^{10}}$
 ۹. $\frac{1}{x^{10}} = x^{-10}$ $\frac{d}{dx} x^{-10} = -10x^{-11} = -\frac{10}{x^{11}}$
 ۱۰. $\frac{1}{x^{11}} = x^{-11}$ $\frac{d}{dx} x^{-11} = -11x^{-12} = -\frac{11}{x^{12}}$
 ۱۱. $\frac{1}{x^{12}} = x^{-12}$ $\frac{d}{dx} x^{-12} = -12x^{-13} = -\frac{12}{x^{13}}$
 ۱۲. $\frac{1}{x^{13}} = x^{-13}$ $\frac{d}{dx} x^{-13} = -13x^{-14} = -\frac{13}{x^{14}}$
 ۱۳. $\frac{1}{x^{14}} = x^{-14}$ $\frac{d}{dx} x^{-14} = -14x^{-15} = -\frac{14}{x^{15}}$
 ۱۴. $\frac{1}{x^{15}} = x^{-15}$ $\frac{d}{dx} x^{-15} = -15x^{-16} = -\frac{15}{x^{16}}$
 ۱۵. $\frac{1}{x^{16}} = x^{-16}$ $\frac{d}{dx} x^{-16} = -16x^{-17} = -\frac{16}{x^{17}}$
 ۱۶. $\frac{1}{x^{17}} = x^{-17}$ $\frac{d}{dx} x^{-17} = -17x^{-18} = -\frac{17}{x^{19}}$
 ۱۷. $\frac{1}{x^{18}} = x^{-18}$ $\frac{d}{dx} x^{-18} = -18x^{-19} = -\frac{18}{x^{20}}$
 ۱۸. $\frac{1}{x^{19}} = x^{-19}$ $\frac{d}{dx} x^{-19} = -19x^{-20} = -\frac{19}{x^{21}}$
 ۱۹. $\frac{1}{x^{20}} = x^{-20}$ $\frac{d}{dx} x^{-20} = -20x^{-21} = -\frac{20}{x^{22}}$
 ۲۰. $\frac{1}{x^{21}} = x^{-21}$ $\frac{d}{dx} x^{-21} = -21x^{-22} = -\frac{21}{x^{23}}$
 ۲۱. $\frac{1}{x^{22}} = x^{-22}$ $\frac{d}{dx} x^{-22} = -22x^{-23} = -\frac{22}{x^{24}}$
 ۲۲. $\frac{1}{x^{23}} = x^{-23}$ $\frac{d}{dx} x^{-23} = -23x^{-24} = -\frac{23}{x^{25}}$
 ۲۳. $\frac{1}{x^{24}} = x^{-24}$ $\frac{d}{dx} x^{-24} = -24x^{-25} = -\frac{24}{x^{26}}$
 ۲۴. $\frac{1}{x^{25}} = x^{-25}$ $\frac{d}{dx} x^{-25} = -25x^{-26} = -\frac{25}{x^{27}}$
 ۲۵. $\frac{1}{x^{26}} = x^{-26}$ $\frac{d}{dx} x^{-26} = -26x^{-27} = -\frac{26}{x^{28}}$
 ۲۶. $\frac{1}{x^{27}} = x^{-27}$ $\frac{d}{dx} x^{-27} = -27x^{-28} = -\frac{27}{x^{29}}$
 ۲۷. $\frac{1}{x^{28}} = x^{-28}$ $\frac{d}{dx} x^{-28} = -28x^{-29} = -\frac{28}{x^{30}}$
 ۲۸. $\frac{1}{x^{29}} = x^{-29}$ $\frac{d}{dx} x^{-29} = -29x^{-30} = -\frac{29}{x^{31}}$
 ۲۹. $\frac{1}{x^{30}} = x^{-30}$ $\frac{d}{dx} x^{-30} = -30x^{-31} = -\frac{30}{x^{32}}$
 ۳۰. $\frac{1}{x^{31}} = x^{-31}$ $\frac{d}{dx} x^{-31} = -31x^{-32} = -\frac{31}{x^{33}}$
 ۳۱. $\frac{1}{x^{32}} = x^{-32}$ $\frac{d}{dx} x^{-32} = -32x^{-33} = -\frac{32}{x^{34}}$
 ۳۲. $\frac{1}{x^{33}} = x^{-33}$ $\frac{d}{dx} x^{-33} = -33x^{-34} = -\frac{33}{x^{35}}$
 ۳۳. $\frac{1}{x^{34}} = x^{-34}$ $\frac{d}{dx} x^{-34} = -34x^{-35} = -\frac{34}{x^{36}}$
 ۳۴. $\frac{1}{x^{35}} = x^{-35}$ $\frac{d}{dx} x^{-35} = -35x^{-36} = -\frac{35}{x^{37}}$
 ۳۵. $\frac{1}{x^{36}} = x^{-36}$ $\frac{d}{dx} x^{-36} = -36x^{-37} = -\frac{36}{x^{38}}$
 ۳۶. $\frac{1}{x^{37}} = x^{-37}$ $\frac{d}{dx} x^{-37} = -37x^{-38} = -\frac{37}{x^{39}}$
 ۳۷. $\frac{1}{x^{38}} = x^{-38}$ $\frac{d}{dx} x^{-38} = -38x^{-39} = -\frac{38}{x^{40}}$
 ۳۸. $\frac{1}{x^{39}} = x^{-39}$ $\frac{d}{dx} x^{-39} = -39x^{-40} = -\frac{39}{x^{41}}$
 ۳۹. $\frac{1}{x^{40}} = x^{-40}$ $\frac{d}{dx} x^{-40} = -40x^{-41} = -\frac{40}{x^{42}}$
 ۴۰. $\frac{1}{x^{41}} = x^{-41}$ $\frac{d}{dx} x^{-41} = -41x^{-42} = -\frac{41}{x^{43}}$
 ۴۱. $\frac{1}{x^{42}} = x^{-42}$ $\frac{d}{dx} x^{-42} = -42x^{-43} = -\frac{42}{x^{44}}$
 ۴۲. $\frac{1}{x^{43}} = x^{-43}$ $\frac{d}{dx} x^{-43} = -43x^{-44} = -\frac{43}{x^{45}}$
 ۴۳. $\frac{1}{x^{44}} = x^{-44}$ $\frac{d}{dx} x^{-44} = -44x^{-45} = -\frac{44}{x^{46}}$
 ۴۴. $\frac{1}{x^{45}} = x^{-45}$ $\frac{d}{dx} x^{-45} = -45x^{-46} = -\frac{45}{x^{47}}$
 ۴۵. $\frac{1}{x^{46}} = x^{-46}$ $\frac{d}{dx} x^{-46} = -46x^{-47} = -\frac{46}{x^{48}}$
 ۴۶. $\frac{1}{x^{47}} = x^{-47}$ $\frac{d}{dx} x^{-47} = -47x^{-48} = -\frac{47}{x^{49}}$
 ۴۷. $\frac{1}{x^{48}} = x^{-48}$ $\frac{d}{dx} x^{-48} = -48x^{-49} = -\frac{48}{x^{50}}$
 ۴۸. $\frac{1}{x^{49}} = x^{-49}$ $\frac{d}{dx} x^{-49} = -49x^{-50} = -\frac{49}{x^{51}}$
 ۴۹. $\frac{1}{x^{50}} = x^{-50}$ $\frac{d}{dx} x^{-50} = -50x^{-51} = -\frac{50}{x^{52}}$
 ۵۰. $\frac{1}{x^{51}} = x^{-51}$ $\frac{d}{dx} x^{-51} = -51x^{-52} = -\frac{51}{x^{53}}$
 ۵۱. $\frac{1}{x^{52}} = x^{-52}$ $\frac{d}{dx} x^{-52} = -52x^{-53} = -\frac{52}{x^{54}}$
 ۵۲. $\frac{1}{x^{53}} = x^{-53}$ $\frac{d}{dx} x^{-53} = -53x^{-54} = -\frac{53}{x^{55}}$
 ۵۳. $\frac{1}{x^{54}} = x^{-54}$ $\frac{d}{dx} x^{-54} = -54x^{-55} = -\frac{54}{x^{56}}$
 ۵۴. $\frac{1}{x^{55}} = x^{-55}$ $\frac{d}{dx} x^{-55} = -55x^{-56} = -\frac{55}{x^{57}}$
 ۵۵. $\frac{1}{x^{56}} = x^{-56}$ $\frac{d}{dx} x^{-56} = -56x^{-57} = -\frac{56}{x^{58}}$
 ۵۶. $\frac{1}{x^{57}} = x^{-57}$ $\frac{d}{dx} x^{-57} = -57x^{-58} = -\frac{57}{x^{59}}$
 ۵۷. $\frac{1}{x^{58}} = x^{-58}$ $\frac{d}{dx} x^{-58} = -58x^{-59} = -\frac{58}{x^{60}}$
 ۵۸. $\frac{1}{x^{59}} = x^{-59}$ $\frac{d}{dx} x^{-59} = -59x^{-60} = -\frac{59}{x^{61}}$
 ۵۹. $\frac{1}{x^{60}} = x^{-60}$ $\frac{d}{dx} x^{-60} = -60x^{-61} = -\frac{60}{x^{62}}$
 ۶۰. $\frac{1}{x^{61}} = x^{-61}$ $\frac{d}{dx} x^{-61} = -61x^{-62} = -\frac{61}{x^{63}}$
 ۶۱. $\frac{1}{x^{62}} = x^{-62}$ $\frac{d}{dx} x^{-62} = -62x^{-63} = -\frac{62}{x^{64}}$
 ۶۲. $\frac{1}{x^{6$

٥٠ ٥١ ٥٢ ٥٣ ٥٤ ٥٥ ٥٦ ٥٧ ٥٨ ٥٩ ٦٠ ٦١ ٦٢ ٦٣ ٦٤ ٦٥ ٦٦ ٦٧ ٦٨ ٦٩ ٧٠ ٧١ ٧٢ ٧٣ ٧٤ ٧٥ ٧٦ ٧٧ ٧٨ ٧٩ ٨٠ ٨١ ٨٢ ٨٣ ٨٤ ٨٥ ٨٦ ٨٧ ٨٨ ٨٩ ٩٠ ٩١ ٩٢ ٩٣ ٩٤ ٩٥ ٩٦ ٩٧ ٩٨ ٩٩ ١٠٠

[illegible]

1.2 ප්‍රතිපත්තිමය ප්‍රවේශය	ප්‍රතිපත්තිමය ප්‍රවේශය
1.2 ප්‍රතිපත්තිමය ප්‍රවේශය	ප්‍රතිපත්තිමය ප්‍රවේශය

[illegible]

[illegible]